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Marking Scheme

	Qs
	Solution
	Comments
	Marks
	SAL

	1.


	a) 0.50 and ½  ●
b)  0.10 and 1/10   ●

	● one mark for each


	4
	Num

	2.


	a)  Knowing 1/10  ●
     = £8.50  ●

b)  Knowing ¼ ●
     = 7 kg    ●
	● one mark for each

( must have trailing zero)
	4
	Num

	3.


	a)  1  ●

b)  6  ●

	● one mark for each


	2
	Num

	4.


	a) p = 6 ●

b) x = 6 ●


	● one mark for each


	2
	Num

	5.


	a)  Y can be { -1, 0, 1, 2, 3 } ●●

	● one mark for 2 correct 
● all correct 


	2

	Num

	6.


	a)  x > 21  ●

	● one mark for each


	1
	Num

	7.


	●  120 + 260 = 380

●  320 – 380 = -60

●  -60 + 80 = £20


	● one mark for each


	3
	Num

	  8.
	 a)     5

 b)     -20

 c)      -5

	 one mark for each part


	3


	Num

	9.

	a)      116 ± 2 mm  ●

	● one mark for each

( check measurement of line  from test paper
	1
	Meas

	10.
	a)     250 cm  ●
b)      0.85 litres  ●  
	● one mark each


	2
	Meas

	11.
	    Name:   ∠ISB ●
    Type:  obtuse  ●
    Size:    110º ± 2   ●
       
	● one mark each

(Check measurement on test paper)
	3
	Shape

	12.
	a)   NE  ●
b)  NE  ●


	● one mark each


	2
	Shape

	13.
	    a = 180 - 118 = 62º   ●

    b = a = 62º   ●

    c =  180 – (62 + 62) = 56º  ●


	● one mark each

(Please use follow through marking where appropriate)
	3
	Shape

	14.
	Area = L x b = 8 x 15  ●
         =  120 mm²  ● 


	● one mark each
	2
	Shape

	15.
	P = 28 + 19 + 45   ●

   =  92 m  ●


	● one mark each


	2
	Shape

	16.
	a) V = L x B x H  ●

    V = 40 x 8 x 20 ●

       =  6400 cm³  ●

b)  6400 cm³ = 6.4 litres  ●


	● one mark each

 (Please use follow through marking where appropriate)
	4
	Shape

	17.
	a)  (i)  (5, 4)   ●

    (ii)  (2, 1)   ●

   (iii)  (4, 0)  ●

b)  Elephant  ●

c)  Mouse  ●

d)  (i)   point D  ●  

     (ii)  point C   ●


	● one mark each


	7
	Shape

	18.
	a)  See diagram

x – axis correct  ●

y – axis correct  ●

plot points correctly

A(3, 1)  ●

B(11, 1)  ●

C(11, 1)  ●

b)  Show point D on diagram  ●

      D( 3, 7)  ●
	● one mark each


	7
	Shape

	19.
	a)   t – 25  =  75    ●

b)    t = 100 sweets   ●


	● one mark each
	2
	PS

	20.
	Knowing to add  ●

= 4.3kg or 4kg300g or 4300g  ●
	● one mark each


	2
	PS

	Significant Aspects of Learning ( SAL)
	Questions
	Mark

	Number
	1 to 8
	/21

	Measure
	9 to 10
	/ 3

	Shape
	11 to 18
	/30

	Info Handling
	
	

	Problem Solving
	19 to 20
	/4

	
	Total
	/58


